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In questions 1 to 7 fill in the blanks (2 marks each): C
V[1] Th i =
[1] The domain for f(x) = e (3x+ 3) Y ,,L ..

/(

“[2]Write using one logarithm to the base 3;

log; 10 +logy 16 = 503 fa/
1 =2y =2
“[3] cos(tan™t Z) = ﬁ/ ...................

~———[4] The graph of y = x cos x is symmetric a}bdhﬁ‘.r.L ;

[x—4]

BT = Bt — - (_ZSZ«G)

x2+4+2x
lx[(x—2)(x+2)

[6] The vertical asymptotes for y = is (are)

[7] cos ~X(cos Fg) — TN ARy ;
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In questions 8 and 9 solve and show your work

[8] (3 marks) Let f(x) = —-= - @

1-4eX
(a) Find domain (f) 7

Y YetE0
| = Y™
_L7£ ex
(b) Find £~1, L £ X

y_ e by el

|- Vet 3 y
Y_’c/(x)(._. eX " [ +9Y y
- el ¢+ et =

i 1 ¢y A = \n( I+‘/Z,)

(c) Find Range () V ()= X

X
—-JQ pf": Tey/x >O P X

=y Rulftt 3l =B X([-ﬂf? [ = x5 -/D

9133 marks) Sketch the graph of y = —3x% 4+ 6x + 3 0.5
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